34. Please solve for x, y, and z. g%-T+4yt1 = &0 2423 = 2K 2
> gxagy= 1t > -2x+24=-a)

8x-7 ) _
| A ;/MJ.' n 3543276150
< (4y+13 g (2% 42y =21) 7wy s-i4 3
3’ (2y ?‘V (322 - 5)° T ga0 32°+33°180
-« (2x +2)° - l Y=1.5 i 511= 7
¥ | 24

gx+4(15) <14
Sx = 14y
‘X=W l

35. In AABC, mZA=(2x—5)°, m£B=(x-1)°, and m£LC =(x+2)°. Classify the triangle by

Unit 3

¢ its angles. 2%-5+ Y-l + W+ 2 =180 m“ﬁ‘?"l'o
Y% -4=180 mep = 4§° >
Y x=18Y meC = yg’

‘ A=4b '
36. AARM, AMAX, and AXFM are all isosceles triangles. If m/FXA=96°, what is mLF%R?
X| F

M<EMR= 724+384713
7

(mamw 134 /
38°

37. a. Find the mZAGH ALD

Ix-9 Ax-a_t}.-

B C 2}

c

¥ — =0
5%-30 = X+3X-9 MCACD ¢ 5(1)-30 K= 3X465+26-X me 060 = g0°

ha-30=4 - X’z 2%+ 80 of
’ MeACD =15° o .
%-30=-9 d W-2%-§0<0 M0 Bl = Mo
40)(x+$) =0 '
\}«:a\ l (X40)(xt§)
_— x=1o, X=-8




38. Find the value of x
00+ 50t 3x+10={8V
3X+ 120 =180
3X=00

o]

39. Find the values of xand y.

X+y+ 144 =150 (h-X +4p + X'- X <180
> XY=y K-2x% + 817180
Y= 4i-X w-2% -44:0

(x-1t) (x+9)=0

el

gz 4) -l

[ ]

40. How are the interior angle of a triangle and its adjacent exterior angle related?
a. They are complementary angles
They are supplementary angles
c. They are congruent angles
d. They are vertical angles

41. Classify triangle XYZ according to its angle measures and side lengths.
Y

® acute, equilateral
©@ acute, isosceles
@ obtuse. scalene

(l\:{,f) obtuse. isosceles



42. Given: AB L BC, BD bisects ZABC, mZABD = (x+5)°, mZDBC = (2x+2y+3)°.

Find the values of xand y.

S Ktby=th  2x+y+3=49 %+ 5(6) =4S

Mk e X+ 3045

-2\(xe6y<49)  2f-oy=-90 lxz\gi

%
Wily=42 Py

-fy=-4e
3 b
43. Given: DA||YN; DA=YN o A
Prove: ZNDY = /DNA v N
Statements Reasons
1. A lNN 1. Gwen
2. 4KDN ¥ <YND 2. A\t Angies Thim
3. DATYN 3. Gwen
4. NS ON 4. Regiexave Prop
5. AADN ¥ MIND 5. S
. <NDY 2 ¢DNR b. LRLTCU
A

44. Use the given information to write a proof.
Prove: DB=CB '
B c

E
Statements Reasons
1. <p¥¢ 1. Ggwven
2. 2 LEB 2. Gwen
3. LRBD T <ERC 3. VAT
4. Anep 2 DR 4. M
5. Wy b 5. (1O




45. Given: GH=KJ KGL1GH znq KJ LJH

Prove : AGHK = AJKH

K i J
) |
Statements Reasons
1. Gk £ 1. Guen
2. Yo LGR 2. Gwen
3. ¥ -LJ_\F 3. mwen
4. QL Y #e 4. Retiexwe Prp
5. AGHKYE AJrd 5. HL

46. Which of the following methods is NOT a method for proving triangle congruence?

a. 5SS
b. SAS
c. AAS

SA

47. Using the given information, please solve for the value of x and find the perimeter of the triangle.

3K +4=6%-10

P=26425+40 )
4:2¥%-10 : % - 10 inches
It =2x [P‘%“‘ ‘
37° 37°
X=—l 8%~ 2 inches
4o 1n
48. Please find the values of xand y.
X+y+3x% = 1§0 Weg+ X 1466 =10
> 4ary =180 XY= H(24) +§ =180
Wo +y =180
4xty= 180 q Xy =160 -
A(xayea) 7 -x-;fv% Y=o
49. Pl find the val f d LML
. Please find the values of y and z.
! [
Sy+5) o -5yth+4z+q  Uarq+dy-2-150
1350 (4z+9)°\ (9y-2)° 5 Im=hyeda = gtz =\
-\ Lr)gtq}fui) —59—\‘ ==\ "\(l&) *ql:\_la
2 3 =\13 Y2 =6k
queia=\y A9 L1

Tagenz 9P [




